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SA: 0l Xt
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DA MEDRM (XIS AIE NS E3I)
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=i * (Sl 2 )
2 - IE
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Kot g & &8 2d 312,900 462,950 A150,050
2P MEDHE (XIS T AIEMSE3) 312,900 462,950 /150,050
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S 20| Uit #=s 55
CHOl: OHNIBH 4IRS (XIS KHRAIL IS EEIH) (choy: @2
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
X2 2|t 1,382,607 1,245,8% 136,711
&= 20| dxls d=s E=2 1,382,607 1,245,8% 136,711
OHEEH SIS B (XA AILMESSIH) 1,382,607 1,245,8% 136,711
=AHE2te] K3A 1,323,100 1,188,723 134,377
403 THAIEMSAH=01A 1,323,100 1,188,723 134,377
01 XM= 22X 1,323,100 1,188,723 134,377
O=Ardztel XEA 1,323,100
Kok Qt&Zte| ZStALY 52,020 46,920 5,100
403 AXIEHHSAH=0lH 52,020 46,920 5,100
01 IR A =2 52,020 46,920 5,100
OXlotz= etd2te| 2 otAr 52,020
oliglsl 7,487 10,253 A2,766
801 OiHIBI 7,487 10,253 A2,766
01 Btoiib|8l 7,487 10,253 N2,766

Oolid1bl 7,487




